	COMPETITIVE BIDDINGS
	
	LEADS AND SIGNALS
	
	WBF Convention Card

	OVERCALLS : natural style
	
	LEADS : GENERAL STYLE
	
	

	Answers:
	
	
	lead
	In partner’s suit
	
	

	One over one : forcing 1 round 
	
	Suit
	count
	count
	
	BEERSCHOT

	Two over one : F1   
	
	NT
	4th best
	count
	
	

	4th pos : 1NT = 9 - 12, x + NT = 13 -16, 2NT = 17 - 19
	
	New suit
	attitude
	count
	
	

	Same answers as 1NT opening
	
	
	
	

	Take Out Double – General style
	
	
	
	

	natural
	
	
	
	Jardinet-Naessens

	
	
	LEADS
	
	

	In 4th pos  : 10+ semi regular hand
	
	
	suit
	NT
	
	

	
	
	A
	AQJx,AQJ10x,AJxx
	AK,AKx,AQJx
	
	GENERAL APPROACH AND STYLE

	
	
	King
	AR,with other shortage., KQx
	AKJx,AKJ10x,KQJx,KQ10x
	
	5 Cards Major – 4 card 

	1NT overcall : 2nd pos : 16-18
	
	Queen
	QJ,QJx,QJ109
	QJ,QJx,QJ109,KQ9x,AQJx
	
	2 Muiderberg in 4th Pos natural 6 card 14/16

	                                           answers as on 1NT opening
	
	Jack
	J10,J10x,J1098
	J10,J10x,J1098,KJ109
	
	2Gamre  Forcing

	                                           4th pos : 9 - 12
	
	10
	10,109,109x
	10x,109,109x,K1098,Q109x
	
	2 Multi

	                                           answers as on 1NT opening
	
	9
	9x, 9
	98x, Q98x, J98x
	
	T-Walsh

	JUMP OVERCALLS :/ WEAK OR 2 SUITERS
	
	
	Hxx,Hxxx,Hxxxx
	Hxx,Hxxx,Hxxxx
	
	Two over one = Forcing 1 round

	Natural answers - Cue-bids F1
	
	
	xxx,xxxx,xxxxx
	xx,xxx,xxxx,xxxxx
	
	1NT= 15+ - 18-

	2NT OVERCALL : 2 suiters/1,  17-19 /weak two(14-16 in 4th pos)
	
	SIGNALS
	
	2NT = 20 - 21

	Natural answers on 2suiters, but transfer if NT
	
	
	On partner’s lead
	suit of declarer
	discarding
	
	PREEMPTIVE OPENINGS

	Michael Cue-bids
	
	           1
	count
	count
	direct
	
	2 Maj Muiderberg, 2 Multi

	Natural answers
	
	Couleur 2
	High Encouraging
	pref. calls
	3rd & 5th
	
	3,3 - 7 cards = 2 Honnors in 1st and second

	AGAINST STRONG NO TRUMP 
	
	           3
	
	
	
	
	3,3 - 7 cards

	Woolsey
	
	           1
	count
	count
	pref. calls
	
	4 à 4 - 8 (7) cards

	
	
	SA        2
	High Encouraging
	pref. calls
	3rd & 5th
	
	

	
	
	            3
	
	
	
	
	3NT = GAMBLING : solid minor without other stopper

	AGAINST WEAK NO TRUMP 
	
	Signals :Reversed count in trumps
	
	

	X =  14 Multi Landy
	
	SMITH against No Trumps
	
	

	AGAINST PREEMPTIVE BIDDINGS :
	
	
	
	

	take out Double

	
	
	
	

	Answering the TOD on Weak two, 2NT is discouraging
	
	
	
	

	2NT in 4th pos against weak two = 14-16
	
	LIGHTNER  against Slams
	
	

	Against Strong Club :
	
	
	
	

	DOUBLE = majors, 1NT =minors , 2  two suiter maj strong

	
	
	
	

	
	
	
	
	

	AFTER OPPONENT TAKE OUT DOUBLE
	
	
	
	

	XX = 10+

	
	AGREEMENTS
	
	

	Level 1  = Forcing 1 round
	
	Against overcalls :  = RUBENSOHL
	
	

	Level 2 = no forcing
	
	SPLINTERS - 
	
	

	TRUSCOTT
	
	
	
	

	Jump in a new suit : nat and fit
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	



	op
ening
	artificial
	Nunb cards

	Negative until
	DESCRIPTION
	ANSWERS
	CONVENTIONS
	AFTER PASS

	Pass
	
	
	
	< 11 HLD
	
	
	2  6/4

	
	
	
	
	
	
	
	

	1
	
	2
	4
	11/22
	Answers level 1 are transferts
	4th suit F1      1 - 1 - 1NT with or without 4 cards major
	1 2 : 5/4 5-9

	
	
	
	
	
	2 = 5/4 5/9
	Double Deux
	12 : Strong

	
	
	
	
	
	3 = 9-11 DH without 4 cards major
	Check-back Stayman
	

	1
	
	4
	4
	11/22
	1NT = 6-10
	IDEM 
	IDEM 

	
	
	
	
	
	2 and 3 idem 
	
	

	1
	
	5
	4
	11/22 
	2NT = fit 3 cards+ 10/11+
	Check back stayman
	DRURY 

	
	
	
	
	
	3NT Natural
	Splinter
	2NT : fit + shortness

	
	
	
	
	
	SPLINTERS 
	
	

	
	
	
	
	
	3
	
	

	1
	
	5
	4
	IDEM 
	IDEM 
	IDEM 
	IDEM 

	1NT
	
	
	
	15+ - 17+
	Stayman 5 answers      2NT natural       
	1NT - 2 - 2 - 2 = 5 7-8 H unbalanced
	RUBENSOHL ( x = Take out) 

	
	
	
	
	
	2till 3 transfert/3 majors weak or strong                    
	1NT - 2 - 2 - 2 = 5 7-8 H unbalanced
	

	
	
	
	
	
	  3 reverse 4333 /4BW/4 : 5/5
	1NT - 2 - 2 - 2 =  5 + 4 with shortness
	

	2
	x
	0
	 
	GAME FORCING
	2 = 0/1 Italian controls 2=2/3 ctrls  etc                            
	2 - 2 - 3 = 6 + 4
	

	
	
	
	
	
	
	2 - 2 - 3 = 6 + 4
	
	
	

	
	
	
	
	24+
	
	2 - 2 - 3NT = 3NT op + 1ace
	
	
	

	
	
	
	
	
	
	
	

	2
	x
	0
	
	Multi colored
	2 NT relay strong
	
	
	2  X   XX  = 

	
	
	
	
	
	Other not  forcing
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	2NT
	
	
	
	20/21
	Stayman 3 answers (doubles transfers)
	2NT – 3 - 
	

	
	
	
	
	
	TRANSFERS
	4 = 5 + 4
	

	
	
	
	
	
	3 = relay for 3NT ( minors )
	4 = 5 + 4
	

	2
	
	5
	
	6-10 Muiderberg
	2SA  Forcing
	
	

	2
	
	5
	
	5  + Other can be 
	New suit F1
	
	

	3
	
	7
	
	Preemptive
	New suit F1
	
	

	3
	
	7
	
	     id
	id
	
	

	3
	
	7
	
	     id
	NATURAL
	
	

	3
	
	7
	
	     id
	id
	
	

	3NT
	
	
	
	Gambling 
	4 = asking for shortage
	SLAM BIDDING CONVENTIONS

	4
	
	8
	
	Preempt Strong 
	
	41-30 5 keys BLACKWOOD, 

	4
	
	8
	
	     Id 
	
	BLACKWOOD at 5NT idem ( 41-30 )

	4
	
	
	
	Weak
	
	JOSEPHINE

	4NT 
	
	
	
	Both 5+ minors
	
	Splinter

	5NT
	
	
	
	id
	Ask for help in minors to play 7
	In competition on BW Pass is 1st level, double second level etc

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	




